PYRAMID A

070022 GSF650 Bandit (oil-cooled) 05-07 Hugger Fitting
Kit Includes:

4X CBOLM60008 M6 x 16mm Allen Bolt

4X CWASM60003 M6 Plastic Washer

1X CBOLM60007 M6 x 12mm Button Allen Bolt

1X CWASM60002 M6 Shake Proof Washer

1X CFK07328 2 Part Strap Bracket

3X CNUTM60008 M6 Cage Nuts

Remove the original chain guard.

Position the bracket supplied on the right side of the swing arm. Loosely attach the two
brackets at the single hole using the Mé x 12mm button bolt with shake proof washer, the
flat edge of the bracket fits on the inside of the swing arm passed up through the brake
hose guide bracket welded to the inside of the swing arm, with the bent bracket to the
outside.

Position the hugger over the wheel, loosely attach to the chain guard mounts using two
Mé x 16mm bolts with washers, loosely attach to the strap bracket on the right side of the
swing arm using the remaining bolts and washers (note: both fingers of the bracket should
be on the inside of the hugger).

Finally check hugger alignment over the wheel and fully fighten all fasteners.

Please note: check hugger alignment and fasteners for tightness periodically.

Any questions?
sales@pyramid-plastics.co.uk

+44 (0)1427 677990
www.pyramid-plastics.co.uk

You

Follow us on social media and
feel free to leave us a review!




